133 cm

o O

50 min.



spozdnikova
Textové pole

spozdnikova
Textové pole




spozdnikova
Textové pole

spozdnikova
Textové pole


(1)]934 [390 |16 |x1[2/3 |
(2)[934 [390 |16 [x1[2/3 ]
(3)[1118]390 |16 [x1]/2/3 |
(4)[1118]357 |16 x1][2/3 |
(5)[1118]390 [16 [x1]2/3 |
(6a)[1130]507 | 3 [x1[3/3]
(68)[1130]407 | 3 [x1[3/3]
(7)[393 [350 [16[x2]3/3 ]|
(8)[392[350 | 4 [x1[3/3]
(9)[493 [350 16 [x2][3/3]
(10)[ 324 [396 (16 [x1[3/3]
(11)| 544387 | 4 [x1/3/3]
(12) [ 324 [396 |16 x1/3/3 ]|
(13)[1111]496 [16 [x4]3/3 |
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197 cm

o O

50 min.
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spozdnikova
Textové pole

spozdnikova
Textové pole




spozdnikova
Textové pole

spozdnikova
Textové pole


(1)[534 [390 (16 x1] 2/2]
(2)[534 [390 (16 [x1] 2/ 2]
(3)[1754]390 |16 [x1] 2/2]
(4)[1754]390 |16 [x1] 2/2]
(5)[502 [350 |16 |x2| 2/ 2]
(6)[502 [357 |16 | x1] 2/ 2]
(7)]501[345 | 4 [x1] 2/2]
(8)[1766]514 | 3 [x1] 2/2]
(9)[164 [496 [16][x1] 2/2]
(10)| 667496 | 4 [x1] 2/2]
(11) | 668]496 |16 [x1] 2/2|
(12) | 324 [496 |16 [x1] 2/2]
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